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Reading Passages 

    

   

    
 

Reading test 1 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

I’m Mike Boulet. I’m from Canada. This week I’m on business in Osaka, Japan. I’m a 

bank manager for an international bank. My bank has offices in Toronto, London, Rome, 

and Osaka. I work in Toronto, but I speak Japanese. I usually fly to Tokyo and take the 

train to Osaka. The trains here are very fast. My bank’s office is in a new building in the 

business district. I really like working in the Osaka office.  

 

My friend Toshiya lives here in Osaka with his wife and their son. He’s an accountant. 

She has a part-time job as a shop assistant. I love visiting them. Their flat is amazing! 

It’s in the city centre and near lots of fantastic shops and restaurants. The seafood here 

is delicious! I like fish, rice, and Japanese tea. The shops are fantastic, too. I have a 

great mobile phone, and a computer from Japan. 

1. The main topic of the passage is ___________. 

A. ☐ Japanese food 

B. ☐ Mike’s visit to Osaka 

C. ☐ Japanese business 

D. ☐ shopping in Japan 

2. Mike is ___________. 

A. ☐ a bank manager 

B. ☐ a pilot 

C. ☐ an accountant 

D. ☐ a shop assistant 
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3. Mike is in Osaka because ___________. 

A. ☐ he’s on holiday 

B. ☐ he has family there 

C. ☐ his wife is from Osaka 

D. ☐ he’s on business 

4. Mike’s bank doesn’t have an office in ___________. 

A. ☐ Toronto 

B. ☐ Tokyo 

C. ☐ London 

D. ☐ Rome 

5. Mike gets to Osaka by ___________. 

A. ☐ bus 

B. ☐ plane 

C. ☐ taxi 

D. ☐ train 

6. Mike visits his ___________ in Osaka. 

A. ☐ wife 

B. ☐ accountant 

C. ☐ son 

D. ☐ friends 

7. Which of the following is NOT TRUE? 

A. ☐ Mike has friends in Osaka. 

B. ☐ Mike doesn’t like Japanese food. 

C. ☐ Mike goes shopping in Osaka. 

D. ☐ Mike can understand Japanese. 

8. The word ‘speak’ in paragraph one is ___________. 

A. ☐ a noun 

B. ☐ a verb 
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C. ☐ an adverb 

D. ☐ an adjective 

9. The word ‘delicious’ in paragraph two is ___________. 

A. ☐ an adverb 

B. ☐ an adjective 

C. ☐ a verb 

D. ☐ a noun 

10. Choose the best title for the text. 

A. ☐ Travel in Japan 

B. ☐ Japanese families 

C. ☐ Life in Osaka 

D. ☐ Why I like visiting Osaka 

Reading test 2 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

Matthew Roberts is from Newcastle in the north of England. He’s an accountant and he 

works in an office in the centre of the city. Matthew is married. His wife’s name is Carol. 

She’s an English teacher at a high school. Her school is in the city centre too, so they 

often meet for lunch.  

 

Matthew and Carol have two children. Max is 20 years old. He studies mathematics and 

computing at Durham University. He lives in a university flat, but he comes home at the 

weekend. Sally is 15. She’s a high school student. She wants to go to university to 

study medicine because she wants to be a doctor.  

 

The Roberts family enjoys living in Newcastle. It’s an old, interesting city and the people 
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are very friendly. Newcastle is also near the sea. Matthew and Carol like to walk on the 

beach at Bamburgh, north of the city. They are very happy in Newcastle. 

11. The main topic of the passage is ___________. 

A. ☐ Matthew Roberts 

B. ☐ the Roberts family 

C. ☐ the city of Newcastle 

D. ☐ Durham University 

12. Matthew Roberts is ___________. 

A. ☐ an English teacher 

B. ☐ a university student 

C. ☐ an accountant 

D. ☐ a doctor 

13. Matthew’s wife’s name is ___________. 

A. ☐ Sally 

B. ☐ Cara 

C. ☐ Mr Robert 

D. ☐ Carol 

14. Carol works in ___________. 

A. ☐ an office 

B. ☐ a university 

C. ☐ a high school 

D. ☐ a college 

15. Sally wants to study ___________. 

A. ☐ mathematics 

B. ☐ at Durham university 

C. ☐ computing 

D. ☐ medicine 

16. Matthew and Carol walk ___________ at the weekend. 
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A. ☐ in the mountains 

B. ☐ on the beach 

C. ☐ to work 

D. ☐ in the park 

17. Which of the following is NOT TRUE? 

A. ☐ Max lives at home. 

B. ☐ Max studies mathematics. 

C. ☐ Max studies at university. 

D. ☐ Max is 20. 

18. The word ‘meet’ in paragraph one is ___________. 

A. ☐ a noun 

B. ☐ an adjective 

C. ☐ a verb 

D. ☐ an adverb 

19. The words ‘go to university’ in paragraph two mean ___________. 

A. ☐ work at university 

B. ☐ visit university 

C. ☐ study at university 

D. ☐ travel to university 

20. Choose the best title for the text. 

A. ☐ A day in Newcastle 

B. ☐ Our family 

C. ☐ My life in Newcastle 

D. ☐ University life 

Reading test 3 

Reading 



Level 1 , Reading Passages,  6 
 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

Claire Dundon is an English teacher. She works in a small language college in Kent, 

England. But she isn’t from England, she’s Irish. She’s married to Dave, who is a doctor, 

and they have three children. They have a lovely house by the beach.  

 

On a work day, Claire gets up at 7.30 and cooks breakfast for her family. Then she 

takes the children to school. She arrives at work at 8.30, and her first class starts at 

9.00. Claire teaches students from many countries including Japan, China, Brazil, and 

Saudi Arabia. Her students study English so they can go to university in the UK. They 

work hard and they take a lot of exams. 

 

Claire usually has lunch at the college with the other teachers. She drinks tea and has a 

sandwich. After work, she takes her children to the park. In the evenings, she enjoys 

reading. She goes to bed at 10.30. 

21. The main topic of the passage is ___________. 

A. ☐ an English teacher’s job 

B. ☐ the Dundon family’s life 

C. ☐ Claire’s day 

D. ☐ life at a language college 

22. Claire is a ___________. 

A. ☐ doctor 

B. ☐ language student 

C. ☐ university student 

D. ☐ teacher 

23. Claire gets to work at ___________. 

A. ☐ eight thirty 

B. ☐ nine o’clock 

C. ☐ seven thirty 
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D. ☐ nine thirty 

24. Claire’s students want to ___________. 

A. ☐ learn English for travel 

B. ☐ study in England 

C. ☐ have more free time 

D. ☐ go to university in the UK 

25. Claire has lunch ___________. 

A. ☐ in a restaurant 

B. ☐ with her children 

C. ☐ at work 

D. ☐ in the park 

26. Claire likes to ___________ in her spare time. 

A. ☐ study 

B. ☐ watch TV 

C. ☐ walk 

D. ☐ read 

27. Which of the following is NOT TRUE? 

A. ☐ Claire is married. 

B. ☐ Claire’s students don’t work hard. 

C. ☐ Claire’s husband, Dave, is a doctor. 

D. ☐ Claire has three children. 

28. The word ‘college’ in paragraph one is ___________. 

A. ☐ an adverb 

B. ☐ a verb 

C. ☐ an adjective 

D. ☐ a noun 

29. The word ‘enjoys’ in paragraph three means ___________. 

A. ☐ does 
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B. ☐ goes 

C. ☐ likes 

D. ☐ doesn't like 

30. Choose the best title for the text. 

A. ☐ Student life 

B. ☐ Living by the sea 

C. ☐ English college life 

D. ☐ A working day 

Reading test 4 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

Stuart Munro and his friends, Tobias Schmidt and Yusuke Kanasuke, are on a charity 

cycle in South America. They come from different countries. Stuart is from Scotland, 

Tobias is from Switzerland, and Yusuke is from Japan. They are all 22 years old, and 

they study medicine together at Dublin University in Ireland. It’s their first cycle for 

charity and they are very excited. The money is for a children’s charity.  

 

They cycle 50 miles every day. The route is 3,701 km (2,300 miles). It is very difficult. 

They take a lot of water and food with them. They get up early and have coffee and 

eggs for breakfast. Then they cycle until 12.00. They relax or sleep in the afternoon 

because it’s too hot to cycle. They cycle for three more hours and they go to bed at 

9.30. They are very tired, but they are happy! 

31. The main topic of the passage is ___________. 

A. ☐ Dublin university 

B. ☐ a charity cycle ride 

C. ☐ South America 
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D. ☐ Stuart Munro 

32. Stuart, Tobias, and Yusuke are in ___________. 

A. ☐ Dublin 

B. ☐ South America 

C. ☐ Switzerland 

D. ☐ Japan 

33. They go to ___________ together. 

A. ☐ school 

B. ☐ work 

C. ☐ Scotland 

D. ☐ university 

34. The charity money is for ___________. 

A. ☐ a hospital 

B. ☐ children 

C. ☐ families 

D. ☐ Dublin University 

35. They cycle 50 miles every ___________. 

A. ☐ morning 

B. ☐ evening 

C. ☐ day 

D. ☐ week 

36. They go to bed ___________. 

A. ☐ in the morning 

B. ☐ until twelve o’clock 

C. ☐ for three hours 

D. ☐ at nine thirty 

37. Which of the following is NOT TRUE? 

A. ☐ The money is for charity. 
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B. ☐ They take a lot of water. 

C. ☐ They cycle all day. 

D. ☐ They are very tired. 

38. The word ‘friend’ in paragraph one means ___________. 

A. ☐ a person you don’t like 

B. ☐ a person you don’t know 

C. ☐ a person you know well, and like 

D. ☐ a person you study with 

39. The word ‘have’ in paragraph two means ___________. 

A. ☐ cook 

B. ☐ buy 

C. ☐ eat or drink 

D. ☐ talk about 

40. Choose the best title for the text. 

A. ☐ A visit to South America 

B. ☐ Cycling across South America 

C. ☐ A charity walk 

D. ☐ The three university friends 

Reading test 5 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

I’m Ben, and my best friend’s name is Luca Consoli. He’s 23 years old, and he’s Italian. 

He shares a flat with me in Cambridge, England. He’s really kind and really funny. And 

he speaks English very well. Luca’s a student at my college. He studies business and 

English, and I study mathematics. We walk to college together every day, and we have 

lunch with our friends in a café in the town centre.  
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After college, we go to the sports centre to play tennis or use the gym. In the evenings, 

Luca has a part–time job as a waiter in a restaurant. At the weekend, we usually go to 

town to do some shopping and meet friends. 

 

Luca wears a lot of smart Italian clothes. He goes shopping in Milan when he visits his 

family. He also loves football. He plays it really well, and he’s a fan of Inter Milan. 

41. The main topic of the passage is ___________. 

A. ☐ student life 

B. ☐ Luca’s best friend 

C. ☐ playing sport 

D. ☐ Ben’s best friend 

42. Luca is from ___________. 

A. ☐ France 

B. ☐ England 

C. ☐ Italy 

D. ☐ Ireland 

43. Ben studies ___________. 

A. ☐ business 

B. ☐ mathematics 

C. ☐ Italian 

D. ☐ English 

44. Ben and Luca have lunch ___________. 

A. ☐ at college 

B. ☐ at their flat 

C. ☐ in a restaurant 

D. ☐ in a café 

45. The boys like to go ___________ after college. 
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A. ☐ shopping 

B. ☐ to the supermarket 

C. ☐ home 

D. ☐ to the sports centre 

46. At the weekend, Ben and Luca ___________. 

A. ☐ go shopping in Milan 

B. ☐ meet their friends 

C. ☐ watch football 

D. ☐ work in a restaurant 

47. Which of the following is NOT TRUE? 

A. ☐ Ben and Luca are flatmates. 

B. ☐ Luca is a good footballer. 

C. ☐ Ben and Luca take the bus to college. 

D. ☐ Luca likes smart clothes. 

48. The word ‘student’ in paragraph one is ___________. 

A. ☐ an adjective 

B. ☐ a verb 

C. ☐ a noun 

D. ☐ an adverb 

49. The words ‘he visits his family’ in paragraph three mean ___________. 

A. ☐ he doesn’t like his family 

B. ☐ he goes to see his family 

C. ☐ he emails his family 

D. ☐ he goes shopping with his family 

50. Choose the best title for the text. 

A. ☐ My best friend 

B. ☐ Shopping in Milan 

C. ☐ An Inter Milan fan 
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D. ☐ My day at college 

Reading test 6 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

Krzysztof Rostoki is from Warsaw, in Poland. He’s 44 years old. He’s a businessman. 

He has a computer and technology company in the city centre. Krzysztof is married. His 

wife’s name is Anya. She’s a journalist for a small newspaper. Her office is in the city 

centre, too. They take the bus to work together after breakfast.  

 

Krzysztof and Anya have two sons. Henrik is 19. He’s at Edinburgh University in 

Scotland. He studies English, business, and computing. He lives in a university flat, and 

he flies home to Poland in his university holidays. Michael is 17. He’s at a sports college 

in Warsaw. He’s a very good football player. 

 

The Rostoki family enjoys the lifestyle in Warsaw. It’s a beautiful, interesting city and the 

people are very friendly. Krzysztof and Anya like to walk in the park, and go to cafés 

with their friends. They are very happy in Warsaw. 

51. The main topic of the passage is ___________. 

A. ☐ business in Poland 

B. ☐ studying in Edinburgh 

C. ☐ Krzysztof the journalist 

D. ☐ the Rostoki family 

52. Krzysztof is a ___________. 

A. ☐ journalist 

B. ☐ student 

C. ☐ businessman 
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D. ☐ football player 

53. Krzysztof and Anya travel to work by ___________. 

A. ☐ bus 

B. ☐ taxi 

C. ☐ car 

D. ☐ train 

54. Henrik is at university in ___________. 

A. ☐ Warsaw 

B. ☐ Edinburgh 

C. ☐ London 

D. ☐ Glasgow 

55. Henrik doesn’t study ___________. 

A. ☐ English 

B. ☐ sports 

C. ☐ business 

D. ☐ computing 

56. Krzysztof and Anya like the ___________ in Warsaw. 

A. ☐ beach 

B. ☐ buildings 

C. ☐ lifestyle 

D. ☐ weather 

57. Which of the following is NOT TRUE? 

A. ☐ Krzysztof is a businessman. 

B. ☐ Michael doesn’t live in Warsaw. 

C. ☐ Krzysztof’s sons are students. 

D. ☐ Anya works for a newspaper. 

58. The word ‘married’ in paragraph one is ___________. 

A. ☐ an adjective 
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B. ☐ an adverb 

C. ☐ a noun 

D. ☐ a verb 

59. The word ‘home’ in paragraph two is ___________. 

A. ☐ a noun 

B. ☐ a verb 

C. ☐ an adjective 

D. ☐ an adverb 

60. Choose the best title for the text. 

A. ☐ Life at a sports college 

B. ☐ Working together 

C. ☐ The Rostokis' life in Warsaw 

D. ☐ A Scottish university 

Reading test 7 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

I’m Jason Holden, I’m 29 years old, and I’m an international tennis player. I’m from 

Melbourne in Australia. Now I live near Canberra, the capital of Australia, because 

there’s a great sports college there. I’m married to Maria Koslovich, the sports journalist. 

We have a daughter, Kimberley. She’s six years old, but she’s already a very good 

tennis player. And we have a four-year-old son, Aidan. His favourite sport is football. 

 

I play a lot of tennis in France and England. People sometimes ask me, ‘Why don’t you 

live in Europe?’ But we love our lifestyle here in Australia. It’s relaxing and the weather 

is fantastic. We can play sport and go to the park every day. 
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I practise tennis for about four hours every day. I also go to the gym and go swimming. 

After training, I enjoy time with my family. I have the best job in the world! 

61. The main topic of the passage is ___________. 

A. ☐ international sport 

B. ☐ Jason Holden’s life 

C. ☐ the Australian lifestyle 

D. ☐ working in Europe 

62. Jason lives in ___________. 

A. ☐ Melbourne 

B. ☐ France 

C. ☐ England 

D. ☐ Canberra 

63. Jason’s married to ___________. 

A. ☐ an accountant 

B. ☐ a tennis player 

C. ☐ a writer 

D. ☐ a college teacher 

64. Jason’s ___________ is also very good at tennis. 

A. ☐ son 

B. ☐ daughter 

C. ☐ wife 

D. ☐ brother 

65. Jason doesn’t want to live in Europe because ___________. 

A. ☐ the weather is terrible 

B. ☐ he doesn’t like European food 

C. ☐ his family loves living in Australia 

D. ☐ he can’t speak French 

66. Jason practises tennis ___________. 
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A. ☐ every week 

B. ☐ every day 

C. ☐ at weekends 

D. ☐ all day 

67. Which of the following is NOT TRUE? 

A. ☐ Aidan doesn’t like any sports. 

B. ☐ Canberra has a sports college. 

C. ☐ The weather in Canberra is good. 

D. ☐ Jason goes swimming. 

68. The word ‘relaxing’ in paragraph two is ___________. 

A. ☐ a verb 

B. ☐ an adverb 

C. ☐ an adjective 

D. ☐ a noun 

69. The word ‘fantastic’ in paragraph two means ___________. 

A. ☐ bad 

B. ☐ comfortable 

C. ☐ awful 

D. ☐ very good 

70. Choose the best title for the text. 

A. ☐ Living in Australia 

B. ☐ Jason Holden: international tennis player 

C. ☐ How to play tennis 

D. ☐ Travelling in Europe 

Reading test 8 

Reading 
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Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

A new questionnaire shows that life isn’t always comfortable for university students in 

the UK. The Students’ Union Newspaper says that 30% of students have only £39 

(about 237 Saudi Riyals) a week for food and books.  

 

Many students take part-time jobs in cafés, restaurants, and shops to make money. But 

tired students don’t study well. And they worry about their exams. Benjamin has a part-

time job. He has no free time. ‘I don’t play football now. I study in the evenings and at 

weekends after work. I don’t want to work, but I need the money.’ 

 

A quarter (25%) of UK students live at home because it’s too expensive to live in 

university flats. Some students spend two hours a day travelling to university. They get 

up very early because their classes start at 9.00 a.m. One student says, ‘I hate the bus. 

I can’t study, I’m tired, and the tickets are expensive!’ 

71. The main topic of the passage is ___________. 

A. ☐ Benjamin 

B. ☐ money 

C. ☐ UK students and money 

D. ☐ university life in Europe 

72. The questionnaire is ___________. 

A. ☐ on TV 

B. ☐ on the Internet 

C. ☐ in a book 

D. ☐ in a newspaper 

73. Students get ___________ to make more money. 

A. ☐ universities 

B. ☐ a job 

C. ☐ an accountant 



Level 1 , Reading Passages,  19 
 

D. ☐ their parents 

74. Benjamin doesn't have time to ___________. 

A. ☐ see his family 

B. ☐ work 

C. ☐ study 

D. ☐ play football 

75. University flats are too ___________. 

A. ☐ cheap 

B. ☐ comfortable 

C. ☐ cold 

D. ☐ expensive 

76. Students can’t ___________ on the bus. 

A. ☐ eat 

B. ☐ study 

C. ☐ sleep 

D. ☐ drink 

77. Which of the following is NOT TRUE? 

A. ☐ Students aren’t worried about their exams. 

B. ☐ A lot of students have jobs to make money. 

C. ☐ University is too expensive for many students. 

D. ☐ Some students live at home. 

78. The word ‘comfortable’ in paragraph one is ___________. 

A. ☐ an adverb 

B. ☐ an adjective 

C. ☐ a noun 

D. ☐ a verb 

79. The verb ‘get up’ in paragraph three means ___________. 

A. ☐ drive 
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B. ☐ start work 

C. ☐ get onto a bus or train 

D. ☐ get out of bed 

80. Choose the best title for the text. 

A. ☐ Studying at university 

B. ☐ It costs a lot to be a student 

C. ☐ Living in a university flat 

D. ☐ Working part-time 

Reading test 9 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

Istanbul is a great place to live. It is an international city with people from a lot of 

different countries. They speak many languages including Turkish, Arabic, and Greek. 

The best way to enjoy Istanbul is to walk and look at the beautiful old buildings. Visitors 

must see the amazing Blue Mosque, and the Galata Tower.  

 

At lunchtime, the people of Istanbul relax in the beautiful parks or go shopping. Istiklal 

Cadessi is the most famous shopping street. And the Grand Bazaar is the biggest 

market. It has over 900 shops. You can also buy wonderful spices at the Egyptian spice 

market. The Asian part of Istanbul has many modern buildings and shopping malls. 

 

Istanbul is a good place to eat. It has a lot of cafés and restaurants. The local people go 

to Kalamar restaurant for delicious seafood. The Turkish people are relaxed. They 

spend time with their families and enjoy the lifestyle in Istanbul. 

81. The main topic of the passage is ___________. 

A. ☐ a holiday 
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B. ☐ shopping in markets 

C. ☐ eating in Turkish restaurants 

D. ☐ Istanbul 

82. Istanbul has a lot of beautiful old ___________. 

A. ☐ people 

B. ☐ buildings 

C. ☐ languages 

D. ☐ markets 

83. The ___________ is an amazing building. 

A. ☐ Grand Bazaar 

B. ☐ Blue Mosque 

C. ☐ Kalamar restaurant 

D. ☐ Egyptian spice market 

84. Istiklal Cadessi is a ___________. 

A. ☐ market 

B. ☐ building 

C. ☐ street 

D. ☐ shopping mall 

85. The Grand Bazaar has more than ___________ shops. 

A. ☐ ninety 

B. ☐ a hundred 

C. ☐ two hundred 

D. ☐ nine hundred 

86. At the Kalamar Restaurant you can buy ___________. 

A. ☐ spices 

B. ☐ Turkish coffee 

C. ☐ seafood 

D. ☐ chicken and rice 
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87. Which of the following is NOT TRUE? 

A. ☐ Istanbul has a lot of old buildings. 

B. ☐ Turkish people don’t spend time with their families. 

C. ☐ Istanbul is a good place to go shopping. 

D. ☐ Istanbul is a relaxing place to live. 

88. The word 'international' in paragraph one is ___________. 

A. ☐ a noun 

B. ☐ a verb 

C. ☐ an adverb 

D. ☐ an adjective 

89. The word ‘buy’ in paragraph two is ___________. 

A. ☐ a verb 

B. ☐ an adverb 

C. ☐ an adjective 

D. ☐ a noun 

90. Choose the best title for the text. 

A. ☐ Studying languages 

B. ☐ Life in Istanbul 

C. ☐ Turkish food 

D. ☐ Shopping in Istanbul 

Reading test 10 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

I’m Brian Sutherland, I’m 58 years old, and I’m a bus driver for Chelsea football club. It’s 

my job to drive the footballers to their games. The bus is very comfortable for the 

players. They have good seats, TV, and computer games. An assistant serves food and 
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drinks. The manager, a doctor, and a physiotherapist always travel with us.  

 

I drive the bus all over England and in Europe. We go to Italy, France, and Spain a lot. 

We always stay in nice hotels. When we get to a hotel, the players go outside to meet 

their fans. They practise football all day, and then they relax in their rooms. I love talking 

to them. They’re really friendly and funny. They are always tired after a game, but 

they’re happy if they win. 

 

I’m married, and I have two sons. They’re Chelsea fans, of course! We get tickets to all 

the games. My job is wonderful. 

91. The main topic of the passage is ___________. 

A. ☐ a football player’s day 

B. ☐ hotels in Europe 

C. ☐ Brian’s job 

D. ☐ life at a football club 

92. Brian is a ___________. 

A. ☐ football player 

B. ☐ bus driver 

C. ☐ physiotherapist 

D. ☐ doctor 

93. The bus is ___________. 

A. ☐ awful 

B. ☐ old 

C. ☐ comfortable 

D. ☐ friendly 

94. A ___________ travels on the bus with the team. 

A. ☐ journalist 

B. ☐ nurse 

C. ☐ fan 
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D. ☐ physiotherapist 

95. After football practice, the players ___________. 

A. ☐ meet the fans 

B. ☐ relax at the hotel 

C. ☐ go to the gym 

D. ☐ play computer games 

96. If the team wins, the players are ___________. 

A. ☐ comfortable 

B. ☐ happy 

C. ☐ interesting 

D. ☐ terrible 

97. Which of the following is NOT TRUE? 

A. ☐ Brian loves his job. 

B. ☐ The players are friendly to Brian. 

C. ☐ Brian visits Europe a lot. 

D. ☐ Brian has two daughters. 

98. The word ‘drive’ in paragraph two is ___________. 

A. ☐ an adjective 

B. ☐ a noun 

C. ☐ an adverb 

D. ☐ a verb 

99. The word ‘wonderful’ in paragraph three means ___________. 

A. ☐ difficult 

B. ☐ boring 

C. ☐ great 

D. ☐ hard work 

100. Choose the best title for the text. 

A. ☐ The life of a bus driver 
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B. ☐ Driving a football team 

C. ☐ European football 

D. ☐ The football manager 

Reading test 11 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

David Chen is a businessman. He has an international company. He speaks seven 

languages: Mandarin Chinese, English, Arabic, French, Spanish, Japanese, and 

Russian. He works in many different countries, but he’s from Wuhan in China. He’s 34 

and he has a flat in the centre of London. He works very hard.  

 

On a work day in London, he gets up at 6.15 and has a shower. He has coffee and toast 

for breakfast and then cycles to work. He arrives at work at 7.45. 

 

David works in a big office. At work he goes to meetings and makes international phone 

calls. He usually has lunch at his desk. He eats sandwiches and fruit. He finishes work 

at 6.00 and goes to the gym. 

 

In the evenings, David meets friends at a restaurant. At the weekend, he goes to a 

football game, or studies more languages. 

101. The main topic of the passage is ___________. 

A. ☐ David’s work day 

B. ☐ languages 

C. ☐ international business 

D. ☐ China 

102. David doesn’t speak ___________. 
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A. ☐ Japanese 

B. ☐ Russian 

C. ☐ Portuguese 

D. ☐ Arabic 

103. He gets up at ___________. 

A. ☐ seven forty-five 

B. ☐ six fifteen 

C. ☐ six o’clock 

D. ☐ seven o’clock 

104. He has lunch ___________. 

A. ☐ in a café 

B. ☐ in a restaurant 

C. ☐ with friends 

D. ☐ at work 

105. After work, David ___________. 

A. ☐ goes home 

B. ☐ goes to the gym 

C. ☐ plays football 

D. ☐ makes international phone calls 

106. David likes watching ___________. 

A. ☐ tennis matches 

B. ☐ golf 

C. ☐ football games 

D. ☐ swimming 

107. Which of the following is NOT TRUE? 

A. ☐ David has an international company. 

B. ☐ David lives in China. 

C. ☐ David likes sport. 
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D. ☐ David works hard. 

108. The word ‘countries’ in paragraph one is ___________. 

A. ☐ a noun 

B. ☐ a verb 

C. ☐ an adverb 

D. ☐ an adjective 

109. The words ‘he arrives at work’ in paragraph two mean ___________. 

A. ☐ he arrives at his office 

B. ☐ he arrives at his job 

C. ☐ he arrives at his flat 

D. ☐ he arrives at the meeting 

110. Choose the best title for the text. 

A. ☐ International business 

B. ☐ A day in the life of David Chen 

C. ☐ London life 

D. ☐ Studying languages 

Reading test 12 

Reading 

Read the passage. Choose A, B, C, or D to complete each sentence, and mark 

your answer sheet. Each correct answer receives one mark. 

I’m Jerry Bateman. I’m on holiday in Perth in Western Australia with my family. My 

brother lives here with his wife and their two children. He’s an accountant and she’s a 

nurse. My children love to visit them. Their house is very big and it is near a beautiful 

park.  

 

Perth is a wonderful city. It has a lot of great restaurants and cafés. The seafood here is 

delicious because it’s near the sea. And the beaches are amazing! It’s a big, 
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international city. Lots of people from different countries live here. They are very 

friendly. But it isn’t easy to understand them because they speak very fast. There are a 

lot of new buildings in the business district. The shops are fantastic, too. My wife and 

daughter love shopping here. 

 

The weather is hot for most of the year. My brother’s family loves the lifestyle here, and 

so do we. We want to live in Perth too! 

111. The main topic of the passage is ___________. 

A. ☐ food in Australia 

B. ☐ Perth, Western Australia 

C. ☐ holiday activities 

D. ☐ shopping in Perth 

112. Jerry’s brother is ___________. 

A. ☐ a nurse 

B. ☐ an accountant 

C. ☐ a businessman 

D. ☐ a bus driver 

113. Jerry’s brother lives near a ___________. 

A. ☐ bank 

B. ☐ beach 

C. ☐ park 

D. ☐ mountain 

114. The restaurants in Perth have very good ___________. 

A. ☐ pizza 

B. ☐ chicken 

C. ☐ Indian food 

D. ☐ seafood 

115. The people in Perth are ___________. 
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A. ☐ wonderful 

B. ☐ awful 

C. ☐ friendly 

D. ☐ terrible 

116. Jerry’s wife and daughter enjoy ___________ in Perth. 

A. ☐ walking 

B. ☐ shopping 

C. ☐ eating 

D. ☐ reading 

117. Which of the following is NOT TRUE? 

A. ☐ The weather in Perth is good. 

B. ☐ Jerry has only one child. 

C. ☐ Jerry’s brother likes living in Perth. 

D. ☐ People in Perth are from many countries. 

118. The word ‘family’ in paragraph one is ___________. 

A. ☐ a verb 

B. ☐ an adjective 

C. ☐ a noun 

D. ☐ an adverb 

119. The word ‘amazing’ in paragraph two means ___________. 

A. ☐ awful 

B. ☐ very good 

C. ☐ comfortable 

D. ☐ terrible 

120. Choose the best title for the text. 

A. ☐ My brother’s family 

B. ☐ Life near the beach 

C. ☐ Perth: a great city to live in 
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D. ☐ Eating out in Perth 

 


